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Chapter : Direction Sense

(1) A paper boy cycles 10 km East, then turns South
and cycles 3 km, then turns West and cycles 6 km,
then turns to his right and cycles 3 km. Where is he
now with reference to his starting position?

Teh QT Tl 5T G4 T 3R 10 frar. o drsfener
AT 8, Y EFEIoT 1 3T 73 1 & 3R 3 fhad.
Ar$Ther Tarar g, e af¥es &1 3R 73 Srar ¢ 3 e
o1, e TS e Trefrelm 8, oY 319aY a7 3R H3 ST &
3R 3 R, d% Tsfehe ToTdar §1 98 9 URMAS
ety & 319 Fgr 87

SSCCGL21AUG-S3 : 17
(b) 14 km East/14

(a) 4 km West/4 o #Y. afRes
[EXIAC)

(c) 4 km East/4 T #. qd  (d) 14 km West/14 .
afges

(2) Anu and Bittu start from the same point. Anu walks
35 m south, then turns West and walks 15 m, then
turns to his right and walks 45 m. At the same time,
Bittu walks 25 m north, then turns to his left and walks
15m. Where is Bittu now with respect to the position
of Anu?
3] 3R foeg U & foig @ welell g A g1 37,35
HieY STEIoT 1 3R ercll § T Feht aiRers &1 3K 15
X Toreht §, R 31t et 3R Fy5aR 45 e ot
g1 38 @HY f9eg, 25 #Hley 3R &1 3R orar §
3T &1 3R HgT 15 FHeX Tolal ¢ | 3107 1 Feufar &
¥ fee FeT W §?

SSCCGL22AUG-S2 : 17
(a) Bittu is 95 m to the North of Anufdeg, 31 & 95

AT BT IRE

(b) Bittu is 15 m to the South of Anufdeg, 3/ & 15
Hre efgror T 3R &

(c) Bittu is 15 m to the North of Anufdieg, 31 & 15
AT BT IRE

(d) Bittu is 95 m to the South of Anufdeg, 3/ & 95
Hre efgror T 3R &

(3) Kritika walks 40 metres towards south. Then
turning to her right she rides 30 metres. Then, turning

to her left, she rides 50 metres. Again, she turns to her
left and rides 30 metres. How far (in metres) is she
from her initial position?
FicIohT STaTOT T 3R 40 FeX Toreh &1 T g 319 gt
3R 3T 30 FIeX Terch §1 fhT a8 370et ST 3R Hza
50 #IeY Telcl §1 98 of: 3H9at a1 3 H3H 30 #HeX
Tolcll 81 a8 319eT IR T & fohefalt gl (#frex #)
wE?
SSCCGLO5AUG-S3 : 11
(a) 65 (b) 70 (c) 80

(d) 90

(4) Kamal starts walking from his home facing west
direction. After walking 10 km he takes a right turn
and walks another 10 km. He takes another right turn
and walks 10 km to reach his school. How far (in km)
and in which direction is he from his home?

A AU B F GREH &I IR HY e Tolell I
T &1 10 3.3, wefal & a1e; 3 & 3R H3T § 3R 10
fohA. el &1 98 9o e 3R Az 10 Bral. 3R
AT § T 394 eI g S §1 T8 39 ;R A
fohetelt g o (fer. #AY. #) orem v feam a1 82
SSCCGL10AUG-S2 : 10
(a) 10, North / 10, 3dX

(b) 10, South / 10, gf&¥or

(c) 20, North-East / 20, 3-8

(d) 20, South-West / 20, &faror-afRas

(5) A and B start running from the same point. A runs
3 km West, then turns South and runs 5 km, then
turns to her right and runs 7 km. B runs 1 km South
then turns to her right and runs 10 km. Where is B
with respect to A now?

A 3R B T &1 foig & elser & 3 &1 A aiRes & 3K
3 foh. . ek atsalr &, T efaror 1 31X 3 St & 3R 5
.3, @ alisar &, T 3roel &g 3R 73 S @ 3k 7
.. g dlgar &1 B ST # 1 [, g dlsar &, T
39T 218 3R H3 St § 3 10 fnr. qen atsar g1 A
RAfaT A 3B FET R E?

SSCCGL17AUG-S1 : 17
(a) 4 km South/4 & 7. gfgror

(b) 4 km North/4 f&r.#. 37X
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(c) 6 km North/6 7. &Y. 38X
d)6 km South/6 IEX:11 gfeor

(6) From a point, Lokesh starts walking towards south
and after walking 30 metres he turns to his right and
walks 20 metres, then he turns right again and walks
30 metres. He finally turns to his left and walk 40
metres. In which direction is he with reference to the
starting point?
Teh g A, olleher STET0T T 3T Tefell RS Tl & T
30 HIeX Telel & dTe; I8 9= e FFHT 20 FeX TAT 8,
a8 T g1 #3 30 HIeT TedT g1 37dd: dg 3= a1
3R FST & YT 40 HIET Tl §| TE 3701 IR R TUToT
b e e # 82

SSCCGLO9AUG-S2 : 11
(a) North-West / 3eR-9fRas (b) East / qd

(c) West / 9iRas (d) South / &f&yor

(7) Abhinav travels 10 km north then turns left. Then
he travels 6 km and turns right and cover another 7
km. He finally turns to right and travels another 6 km.
How far (in km) is he from the point of starting his
journey?

AT 39T &R &Y 30T 10 .. Terar & fhT I 3R

S ST & | Y @ 6 R, wrefall & o7 erdf g AR 7
foh 3. Terar &1 3dq: 98 g 3R Hzar g T2 AR 6
o2, =refclT §1 a8 379 AT o 3R TAUTeT § Fhctelr
& (A /) wg?
SSCCGL11AUG-S1 : 10
(a) 14 (b) 16 (0) 15

(d) 17

(8) Punit starting from point R walked straight 10 km
west, then turned right and walked 12 km and again
turned right and walked straight 7 km. In which
direction is he from point R?

geid foeg R & qiRers feem # 10 for AT, e =rem, fh
ag &4 H3T 12 o AL, wrell TUT G=: ER s 7 A,
ey =T | 9 foeg R & o feom # 87
SSCCGL12AUG-S1 : 10
(a) North-East / 38R-9d  (b) North-West / 3IR-
qRa#

(c) South-East / &f&I0T-qd  (d) South-West / &f&Ior-
qRa#

(9) Two women A and B are shopping in a mall. They
start from the same point. A walks 150 m West, then
turns to her left and walks 160 m. B walks 140 m East,
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then turns South and walks 160 m, then turns to her
left and walks 120 m. Where is B with respect to A
now?

ar AT A 3R B U Alel & Tl X @Y &1 3 TH
g feig & &3ATT el 81 A gRifre 1 3 150 #Hiex dh
Torch §, B 18 31X 373 STl § 31K 160 #Hiex e e
€1 B qd T 31 140 #eX deh Teldl &, T afaTor &1 3
3 STl § 3R 160 #Hiex deh Forcl 8, T 370l a1$ 3%
73 ST § 3R 120 #iex deh Terch 81 A & afd @ 39
B el | &?

SSCCGL17AUG-S2 : 17
(a) 410 m West / 410 #Hrex qfaa

(b) 410 m East / 410 #eX &
(c) 170 m East / 170 #eX &
(d) 170 m West / 170 #Hrex g2rfaa

(10) A truck travels 36 km North, then it turns West
and travels 9 km, then it turns South and travels 50
km, then it turns to its left and travels 9 km. Where is
it now with reference to its starting position?

Teh ¢oh 36 foheT, 3R T 3R ST &, fOhe gerfas & 3R
H3 ST & 3R 9 Fohalr. 7k STl &, T g afayor hr 3
H3 STe & 31X 50 fhell. ek ST &, Y I8 379 &g
3R #3 ST & 3R 9 fohell. e ST 8| 98 319=1 IR
B IRIGE R CE TR

SSCCGL17AUG-S3 : 17
(a) 14 km North / 14 fRafT. 3

(b) 86 km South / 86 TR, afayor
(c) 86 km North / 86 fareY. 3aX
(d) 14 km South / 14 T, gfeyor

(11) Two planes start from the same airport. A flies 50
km East. B flies 15 km North, then turns East and flies
20 km, then turns to its right and flies 15 km. Where is
B with respect to A now?

ar TaaATeT Ueh §Y garS 3158 & 33T d 8] A 50 fm.A. qd
T 3R 33T ] B 15 Fh.A. SR 3R 35T d, AR g
30 FzaT & 3R 20 .. 33T 8, T 379l a1 3R 73
ST & 3R 15 TR, 33T 8] A 1 8ufay & 319 B hgT W
g7

SSCCGL18AUG-S2 : 17
(a) 30 km East / 30 far.#fY. q&f

(b) 70 km East / 70 f&n. Y. &
(c) 30 km West / 30 & =Y. gfeas
(d) 70 km West / 70 for. &1, ofgs
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(12) P and Q start cycling from the same point. P
cycles 18 km North, then turns to her right and cycles
3 km. Q cycles 9 km East, then turns North and cycles
10 km North, then turns left and cycles 6 km. Where is
Q now with respect to the position of P?
P 3R Q Ueh & foig & WrSTeher Tellell & Tt 8| P 3R
&1 3R 18 .o, gl erar g, e 319t arfeet 3%
73 S § AR 3 BRA. a% wsfrer Torar §) Q @ A
3R 9 A, T FrSfeher ol 8, T 3T &1 3K 73
ST g 3R 3R Fr 3R 10 [F.# . IF arsiEHe Terar g P
F AT T QFET W E?

SSCCGL18AUG-S3 : 17
(a) 8 km South / 8 f&r.#Y. gf&yor

(b) 8 km North / 8 f&r.#T. 3aX
(c) 28 km South / 28 for.5T. efeyor
(d) 28 km North / 28 f&.#T. 35X

(13) Two motorcyclists P and Q start from the same
point. P rides 11 km West, then turns South and rides
16 km, then turns to his right and rides 14 km. Q rides
30 km South, then turns to his right and rides 25 km.
Where is Q with respect to P now?

&l Are@TSTahel TTeleh PR Q Ueh &1 Toig & 37Tl
¥ P 11 R, aferw & 3T AT & AT 3l & 3k
e & 3R 14 . T STar 8] Q afaior & 31X 30
2. Teh STl & R 379l &1$ 3R A3 o7l & 3R 25
.. Wm%lPﬁﬁuﬁﬁmqmw%?

SSCCGL18AUG-S1 : 17
(a) 14 km North / 14 f».#Y. 39¢

(b) 14 km South / 14 .5, gfeyor
(c) 44 km South / 44 f&.#Y. EfayoT
(d) 44 km North / 44 .7, 35X

(14) Two cars C and D start from the same point. C
travels 9 km South, then turns to its left and travels
another 11 km. D travels 3 km East, then turns South
and travels 5 km, then turns to its left and travels
another 8 km. Where is D with respect to C now?

@l R C 3R D ek &1 fig & Y3 Il 8] C afaror
3T 9 T2 21 I Tl &, T 3701 1S IR F el &
3R 11 forAY. & arm 3R e &) D qd 3R 3 femA.
1 I YT g, T gfator &1 3R Hs Sl § 35
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35T, &Y T el &, TR 319eTT &S 3R 73 STl & 30T
8 fr.a. @rwmmcﬁﬁzﬁﬁmeW%”

SSCCGL19AUG-S1 : 17
(a) 4 km South / 4 .5, f&or

(b) 14 km North / 14 5.5, 35X
(c) 4 km North / 4 .5 3T
(d) 14 km South / 14 fo.# . gfgyor

(15) A and B start from the same point. A cycles 8 km
South, then turns to her right and cycles 5 km. B
cycles 3 km North, then turns West and cycles 5 km,
then turns to her left and cycles 4 km. Where is B with
respect to A now?

A AR B T &Y foig & &3 FI 8] A Sfaror i 3% 8
o, ook amSfeher Troreh 8, R afRaer &1 3R 713 Sirelr
g 3R 5 A g asfhe gerd &) B 39 61 3R 3
o1, ook amSfeher Troreh 8, R afReer &1 3R 713 Sirelr
¢ 3R 5 o & amm e 8, R 3rdeh a1 3R 73
ST & 30T 5 5. a arsfher Terd 8] R 3raeh a8
3R H3 SIe & 3T 4 foha. ook arsfaner =werch & A 6T
Rufa T 3@ B FET R E?

SSCCGL19AUG-S2 : 17
(a) 7 km North / 7 f&.#Y. 3R

(b) 7 km South / 7 .3, gfgyor
(c)-15 km North / 15 f&r.#T. 3}
(d) 15 km South / 15 .. gfeyor

(16) X and Y both start from a same point. X walks 17
m West, then turns to his right and walks 13 m. At the
same time, Y walks 9 m North, then turns East and
walks 7 m, then turns to his left and walks 4 m. Where
is Y now with respect to the position of X?

X 3R Y Teh & g & o313t § | X uferer v 3R 17
HIeT Jeh e & , oY 319 arfee R 743 S7ra & 31 13
Hiex T ToldT & | 38T 7T, Y 3 FI 3R 9 A dF
AT &, T qd Y 3R {3 STl & 3R 7 HIex Tk e
&, T 31aTT TS 3R 73 SITelm 3R 4 #HieY e Forer & |
XHRATAITY FgTRE?

SSCCGL19AUG-S3 : 17
(a) 24 m West / 24 #HreX aftad

(b) 10 m East / 10 #rex &
(c) 10 m West / 10 e afegs
(d) 24 m East / 24 HieX &

(17) A woman in a shopping complex walks 250 m
East, then she turns North and walks 100 m, then she
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turns West and walks 120 m, then she turns to her left
and walks 100 m. Where is she now with reference to
her starting position?
QITRAT ShiFColerd 7 Ueh Afgel 250 HieX qd i 3R Terely
&, fhT a5 3aX &1 3R 73 el § 31X 100 e e ol
g, T g IiReH T 3R 73 Sl & 3R 120 #Aex dsh
Telcll &, T g 379el a1S 3R 3 STIelt & 3R 100 #Hrex
ek Tl o] 96 3911 RT3 feufa & 39 #gr 82
SSCCGL20AUG-S1 : 17
(a) 130 m East 130 #eX qd

(b) 130 m West 130 #Hrex afeas

(c) 370 m East 370 #Hrex qd

(d) 370 m West 370 #Hrex gfeas

(18) A man cycles 7 km East, then turns South and
cycles 12 km, then turns West and cycles 7 km, then
turns to his left and cycles 10 km. Where is he now
with  reference to  his  starting  position?
s afad 7 76 . 99 i 3R sl gerar &,
afaror &1 3R Foae 12 T, A @gfaher Tarar g,
qfRas T R FsH 7 . 7. Ar$Ther Terrar g 3R e
3T aT$ 3R AH 10 6. 3. WSfRer Temar § | 9%
37T IR Reafa & s T g ?

SSCCGL21AUG-S1 : 17

(@) 22 Kms South (b) 2 Kms South
(c) 22 Kms East (d) 2 Kms East

(19) A car travels 17 km South, then turns East and
travels 11 km, then turns North and travels 9 km, then
turns to its left and travels 11 km. Where is the car
now with reference to its starting position?

T HR Gfaror 7 17 far Al a amar ac 8, e g @
3R 73 S § 3R 11 fo Ay arr ol §, e saw r
3R 73 Sl & 3R 9 fom#r. & Imar el B, e 3roei
1§ 3R 73 S § 3R 11 B & amr s 3 9
3l IR Fufa @ 3w Fai €7

SSCCGL21AUG-S2 : 17
(a) 8 km North 8 {7, 3T}

(b) 8 km South 8 fr.#T. gfgyoT

(c) 26 km South 26 .7 . gfaror

(d) 26 km North 26 .. IR

(20) A woman in a shopping complex walks 150 m
East, then she turns North and walks 180 m, then she
turns West and walks 70 m, then she turns to her left
and walks 180 m. Where is she now with reference to

Free Study Material Join: Telegram.me/ExamsCart

her starting position?
Teh QMU HIAIFH H Teh Afger 150 Hiex gd & 3R
Tl &, T 3o T 31X H3 el & 3R 180 #ex wrerdlr
£, o 9 TeIfR 1 3R 773 ST & 3R 70 Frex TRl
T g 37elr S1$ 3R {3 STl © 3R 180 Hie wrorel B
T 39T IR TS & 319 Fgi &7

SSCCGLO6AUG-S1 : 16
(a) 80m West 80 #Hrex ufdersr (b) 220m

East 220 #leX g
(c) 80m East 80 #leXqd  (d) 220m West 220 HieX
EIECE ]

(21) A and B start from the same point. A cycles 10 km
South, then turns to her right and cycles 9 km. B
cycles 2 km North, then turns West and cycles 15 km,
then turns to her left and cycles 12 km. Where is B
with respect to A now?

A AR B T & foig & & et 8T | A 10 fhellATeT gfaror
1 3R FIiSshel AT &, T 3191 e 3R H3 Srar &
3R 9 Freeex FIfSHer T &1 B 2 fheiisex 3T i
3R FSehel TATAT &, Y afeds 1 3R 73 Srar ¢ 3%
15 el #iey Hifgehel Telrer 8, R 39 a1$ 3K 73
ST & 3R 12 fFeleiey Tifsdhe gorar gl A & feafa &
379 B Hgi W g?

SSCCGLO6AUG-S3 : 16
(a) 6 km West 6 SreHeT gfsie

(b) 6 km East 6 Sre#Icy qd
() 24 km West 24 hreltefiex gfse
(d) 24 km East 24 Freli#feT g8

(22) Priya cycles 5 km North, then turns East and
cycles 4 km, then turns South and cycles 5 km, then
turns to her right and cycles 6 km. Where is she now
with  reference to  her starting position?

o 5 .. sax v 3 wnsferer aenc & R q@ &
3R 373 el § 3R 4 fr Al 9% asfee o § R
afaror 1 3R 73 el 8 317 5 7R e arsfRer warcd
&, T 3191l 278 31X H3 STTelt & 31 6 foh. 7. e amgieher
am-cﬁma%'m?ﬁm%ﬁmm%?

SSCCGL23AUG-S3 17
(a) 2km East 2 fr.aT. q& (b) 2km West 2

.. gfeas
(c) 10km West 10 for. =Y. afeas (d) 10km East 10
IC: 18 g

Y
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(23) A man walks 3 km West, then turns South and
walks 7 km, then turns East and walks 3 km, then turns
to his right and walks 5 km. Where is he now with
reference to her starting position?

T ogfad 3 fh.a . gfere [ 3R gerar R gfaror &
3R 73 Srar & 3R 7 A oo gorar § L 9d o 3
73 Srar ¢ 3R 3 B qe Torar 8.6 39l a1g 3R
Hs ST & 3R 5 foh#. deh Teldl § [@8 379e TR
afa @ seFerd?

SSCCGL20AUG-S2 : 17
(a) 12 km North / 12 fr.#r. 3R

(b) 2 km South / 2 f&.#r af&or
(c) 12 km South / 12 f&.#r gfayor
(d) 2 km North / 2 fF. & 31

(24) A migrating bird flies 40 km North, then turns
East and flies 50 km, then turns North and flies 110
km, and turns to its left and flies 50 km. Where is it
now with reference to its starting position?

Teh FaTT Gaf 3 hr 3N 40 .. e 33, R
T 3 73 A1 § 3R 50 .. T 331 &, Y 3w
3R 73 S & 3R 110 ool qe 3501 8, 3R 3o arg
3R FT & 3R 50 foh 21, I 35T &1 98 370l IRFAF
eafa q T Fgrg ?

SSCCGL22AUG-S3 17
(a) 150 km South / 150 .7 . aF&TUT

(b) 150 km North / 150 f&.#Y. 3a%
(c) 70 km North / 70 f&r.#". 33R
(d) 70 km South / 70 for.# . gfeyor

(25) X and Y start from the same point. X walks 40 m
north, then turns West and walks 80 m, then turns to
his right and walks 50 m. At the same time, Y walks 90
m North. Where is Y now with respect to the position
of X?
X 3R Y T &Y TG @ Tolell X & | X, 40 HIeT 3 Hr
3R TRl &, R g R AR Y 3R 80 Fex TAA L,
R 31 aTfelt IR FZHT 50 HIER Terel §1 3 T
Y, 90 #HIeX 3R T 3R Telar g | X 1 Fufar & 319 Y Fvgt
W7

SSCCGL23AUG-S1 17
(a) Y is 30 m to the East of X /Y, xﬁsoafnaegqe‘rﬁ%
(b) Y is 80 m to the West o f X / Y, X & 80 #HIeX g¥
TREE A

(©) Y is 30 m to the West of X / Y, X & 30 #lex ¥
TREE A E
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(d) Y is 80 m to the East of X / Y, X & 80 Hlex g q@ &
3

(26) A woman walks 3 km North, then turns West and
walks 4 km, then turns South and walks 7 km, then
turns to her left and walks 4 km. Where is she now
with  reference to  her starting position?
T Afger 3 .. 3T H IR o &, BT afBa Hr g
FR AR o ¥ T afdior & 3R Hge 7
e aerh § 3R Y el 918 3R oo 4fna
Tolcll §] I 379l TRIHH T?aﬁrﬁmargr%?
SSCCGL22AUG-S1 17
(a) 10 Kms South / 10 fe.#T. afﬂw

(b) 4 Kms North / 4 .3, 38

(c) 10 Kms North / 10 fr.#T. 3%

(

d) 4 Kms South / 4 .. ef&qor

(27) A marathon route starts and goes 21 km North,
then there is a turn towards West where the route
goes on for 7 km, then there is a turn towards North
where the route goes on for 10 km, then there is a
right turn from where the route goes on 7 km to reach
the end. Where is it now with reference to its starting
position?

Teh AT AT 2 gl & 3R 21 . 33 61 3] arar
g, Y Ig ufeier 1 & HT & Sl A6 7 fhal. as
ST &, oY 3T T 3T A3 & STet A7 10 R a%
ST §, 981 ¥ &0 oW AIS 377dT § STgi AR 37d a 7
.. 9 ST & ﬁmmﬁuﬁ@mw%?
SSCCGL23AUG-S2 : 17
(@) 31 km South 31 fer.#T. gfator

(b) 11 km North 11 fer.#Y. 3¢

(c) 31 km North 31 far.#Y. 3T
(

d) 11 km South 11 f&.#Y. gfaor

(28) A plane flies 100 km West, then it turns South and
flies 150 km, then it turns West and flies 300 km, then
it turns to its right and flies 150 km. Where is it now
with  reference to its  starting  position?

Te TaAT fRa# 1 30T 100 .7, T 351§, T I8
&feToT T 3R 73 ST & 3R 150 AT, ek 33T 8, T
Tg IREH T IR 73 S ¢ 3R 300 R AT, 7 33T 8,
T I8 319e1 aT$ 3R A3 & 3R 150 for#l. e 33 B
%MW%&%@MW%?

SSCCGL20AUG-S3 : 17
(a) 400 km East 400 . #Y. q&

(b) 200 km West 200 . #t. ofas

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

(c) 400 km West 400 far. #T. gfgs
(d) 200 km East 200 fa. #Y. q&

Answer Key
1 [C|2 |C[3 (D4 |A
6 |C|7 [D|8 |B|9 |B
11(C|12]A[13[B|14|C
16(D|17]A[18[A|19|B

A|22|B B

D|27|C

21|A[22|B|23|C(24
26(D(27|C|28

10 km North

@ sessssanasaV

Solution:

M
4km East> 10km 3 k”é‘ Starting point

1 km
Be 4

(5-1) =4 km

(2)
15m

Bittu is 15m north
to Anu

25m
Starting point

35m

20 km
He is in the west direction with reference to the starting point

)
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We  »E

10 km

Starting point ®

8

10 km
He is in North —west direction from point R.

(24 m East) y N
> A
(4 m

S

7m We—— |

9m \ 4
° S

100 m
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